Summer Test 2

Name Class Date
2
1 702X 1= 2 121=
3 |08= - 0.2 g |7x = 49
_ 1 2
5 X 1000 = 53 000 & ER
7 | 6=14200+ 8 |5X(12—-9 =
9 |60 = —2X%6 10| L x3=
' 107 4
_ 9 _ 2 _
1" = 1.9 X 1000 12 -
13 %of35= 14 | 3002 — 1405 =
15 |5-2x2= 16 | 3645 —9.788 + 289 =
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Summer Test 2 (continued)

17 ;—+;—= 18 | 6498 = X9

19 | 73491 — 523 + 89 = 20(5|7428

21| 7= + 832 22| (6+2)x22=

U U

23 | 35% of 60 = 24 = ;_ + %

U U

2541|8171 26|16 | 8448 (2 marks)

1 1 3657
27| 4t 3 = 28| x 97 ekl
S
[Total marks /30
J

How We" did YOU dO? + with correct place value 16 | 19
Colour the numbers of the - with zeros 14

questions you got correct. + or x by 10, 100 or 1000 5 | 1
Long x and long + 26 | 28
+ with decimal remainders | 20 | 25
Fractions 6 |10 |12 |13 |17 |24 ]| 27
Percentages of amounts 23
Missing numbers 3145719182
Brackets and BIDMAS 15116119 | 22
16 |17 119 | 22|24 27

12114 [ 15|16 | 19
9 |10 | 1M [13 15|21 |22 23(28
51719 [13]18[20([23]25]26
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